
§·¤æ§ü / Unit-I

1. âæ¢çBØ·¤è ·¤è Âý×é¹ âè×æ°¡ @Øæ ãñ´U? @Øæ §Ù
âè×æ¥æð´ ·¤æð ÎêÚU ç·¤Øæ Áæ â·¤Ìæ ãñU?

What are the main limitations of Statistics ? Can
these shortcoming be overcome ?

¥Íßæ / OR

âæ¢çBØ·¤èØ ¥Ùéâ‹ÏæÙ ·¤æ ¥æØæðÁÙ ·¤ÚUÌð â×Ø çÁÙ
ÕæÌæð´ ·¤æ ŠØæÙ ÚU¹Ùæ ¿æçãU°, ©UÙ·¤æ çßßð¿Ù
·¤èçÁ°Ð

AE-557
B.B.A. (Part - II)

Term End Examination, 2016-17

BUSINESS STATISTICS

Group - II
Paper - II

Time : Three Hours] [Maximum Marks : 75

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.

81_BSP_(7) (Turn Over)



Discuss the various points that should be
considered in planning a statistical investigation ?

§·¤æ§ü / Unit-II

2. ÂýæÍç×·¤ â¢×·¤æð´ ·ð¤ â¢»ýãU‡æ ·¤ÚUÙð ·¤è ç·¤‹ãUè´ Îæð
çßçÏØæð´ ·ð¤ »é‡æ-Îæðáæð´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

Describe merits and demerits of any two methods
used in collection of Primary Data.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ¥æ¡·¤Ç¸Uæð´ ·¤æð ¥æßëçîæ ¥æØÌ ç¿˜æ mæÚUæ
ÂýÎçàæüÌ ·¤èçÁ° ¥æðÚU ÕãéUÜ·¤ ·¤æ ×æÙ ™ææÌ ·¤èçÁ° Ñ

Draw a histogram, for the following data and
find out mode :

Marks Frequency

0-10 4

10-20 7

20-30 14

30-40 20

40-50 21

50-60 15

60-70 6

70-80 5
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§·¤æ§ü / Unit-III

3. A ·¢¤ÂÙè ¥æñÚU B ·¢¤ÂÙè ·ð¤ ¥¢àææð´ ·ð¤ ×êËØæð´ ×ð´ Áæð
Ùè¿ð çÎ° »° ãñ´U, ™ææÌ ·¤èçÁ° ç·¤ ×êËØ ç·¤â×ð´
¥çÏ·¤ çSÍÚU ãñU?

55 54 52 53 56 58 52 50 51 49
108 107 105 105 106 107 104 103 104 101

A
B

From the prices of share of company ‘A’ and
company ‘B’ given below, state which is more
stable in value ?

55 54 52 53 56 58 52 50 51 49
108 107 105 105 106 107 104 103 104 101

A
B

¥Íßæ / OR

(a) çÙ`ÙçÜç¹Ì ¥æ¡·¤Ç¸Uæð ´ ·¤æ »é‡ææðîæÚU ×æŠØ ™ææÌ
·¤èçÁ° Ñ

Calculate Geometric mean of the following
data :

15, 250, 15.7, 1.57, 105.7, 10.5, 1.06,
25.7, 0.257, 10

(b) çÙ`ÙçÜç¹Ì â¢×·¤æð´ âð ãUÚUæˆ×·¤ ×æŠØ ™ææÌ
·¤èçÁ° Ñ

Calculate Harmonic mean from the following
data :

2574, 475, 75, 5, 0.8, 0.08, 0.005, 0.0009
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§·¤æ§ü / Unit-IV

4. ç·¤âè âé‹ÎÚUÌæ ÂýçÌØæðç»Ìæ ×ð´ v® ÂýçÌØæðç»Øæð´ ·¤æð ÌèÙ
çÙ‡ææüØ·¤æð ´ (ÁÁæð´) mæÚUæ çÙ`Ù ·ý¤× âð ÚU¹æ »Øæ Ñ

Ten competitors in a beauty contest are ranked
by three Judges in the following order :

Â ýÍ× ç mÌ è Ø Ì ëÌ èØ
ç Ù ‡ æ æ üØ · ¤ ç Ù ‡ æ æ üØ · ¤ ç Ù ‡ æ æ üØ · ¤

First Second Third
Judge Judge Judge

1 3 6

6 5 4

5 8 9

10 4 8

3 7 1

2 10 2

4 2 3

9 1 10

7 6 5

8 9 7

·¤æðçÅU âãUâ¢ÕÏ ·¤æ ÂýØæð» ·¤ÚUÌð ãéU° ÕÌæ§° ç·¤
çÙ‡ææüØ·¤æð ´ (ÁÁæð´) ·ð¤ ç·¤â ÁæðÇ¸ðU ·¤è âé‹ÎÚUÌæ ·ð¤
ÂýçÌ çÙ·¤ÅUÌ× â×æÙ M¤ç¿ ãñU?



Use the rank correlation coefficient to discuss
which pair of judges have the nearest approach
to common tastes in beauty ?

¥Íßæ / OR

çÎËÜè ·ð¤ °·¤ ×ŠØ×ß»èüØ ÂçÚUßæÚU ·ð¤ ÕÁÅU ·ð¤
â¢Õ¢Ï ×ð´ çÙ`ÙçÜç¹Ì âê¿Ùæ ™ææÌ ãñU Ñ

An enquiry into the budget of the middle class
family in Delhi gave the following infomration :

Food Rent Clothing Fuel Misc.
Expenses on 40% 20% 15% 10% 15%
Prices 1992 100 40 60 20 50
Prices 1994 150 60 75 25 80

1992 ·¤è ÌéÜÙæ ×ð´ 1994 ·ð¤ ÁèßÙ çÙßæüãU-ÃØØ
¥æ¡·¤Ç¸Uæð´ ×ð´ @Øæ ÂçÚUßÌüÙ çÎ¹æ§ü ÎðÌð ãñ´ U?

What changes in the cost of living figures of
1994 as compared with that of 1992 are seen ?
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¹æl ÂÎæÍü ç·¤ÚUæØæ ·¤ÂÇ¸Uæ §ZÏÙ çßçßÏ

ÃØØ y®' w®' vz' v®' vz'

·¤è×Ìð ́v~~w v®® y® {® w® z®

·¤è×Ìð´ v~~y vz® {® |z wz }®



§·¤æ§ü / Unit-V

5. (a) °·¤ ÍñÜð ×ð ́ 5 ÜæÜ °ß¢ 3 âÈð¤Î »ð´Îð´ ãñ´UÐ °·¤
ÎêâÚðU ÍñÜð ×ð ́ 4 ÜæÜ °ß¢ 6 âÈð¤Î »ð´Îð ́ ãñ́UÐ ØçÎ
Îñß çÙÎàæüÙ âð °·¤ »ð´Î ÂýˆØð·¤ ÍñÜð âð çÙ·¤æÜè
ÁæÌè ãñ´U, Ìæð ÎæðÙæð´ ·ð¤ ÜæÜ Ú¢U» ·ð¤ ãUæðÙð ·¤è @Øæ
â¢ÖæßÙæ ãñU?

A bag contains 5 red and 3 white balls.
Another bag contains 4 red and 6 white
balls. If one ball is drawn a random from
each bag, what is the probability of their
being red ?

(b) ‘MANGO’ àæµÎ ·ð¤ ¥ÿæÚUæð´ ·ð¤ ç·¤ÌÙð ·ý¤×¿Ø
ãUæð´»ð, ØçÎ ÂãUÜæ ¥ÿæÚU M âßüÎæ ÂýæÚ¢UÖ ×ð´ ÚUãðU?

In how many ways the letters of the word
‘MANGO’ can be arranged, so that M is
always in the beginning ?

¥Íßæ / OR

(a) ¹ðÜÙð ·ð¤ Âîææð´ ·ð¤ âæÏæÚU‡æ Âñ·¤ ×ð´ âð °·¤
·¤æÜæ Âîææ Øæ °·¤ ÕæÎàææãU ¹è´¿Ùð ·¤è
ÂýæçØ·¤Ìæ @Øæ ãñU?

What is the probability of drawing a black
card or a King from a pack of ordinary
playing cards ?
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(b) ‘LAHORE’ àæµÎ ·ð¤ ¥ÿæÚUæð ´ âð ç·¤ÌÙð àæµÎ
ÕÙ â·¤Ìð ãñ´U (i) çÁÙ·ð¤ ÂýæÚ¢UÖ ×ð´ L ÌÍæ ¥¢Ì
×ð´ E ãUæð, ÌÍæ (ii) çÁÙ·ð¤ àæèáæðZ ÂÚU L ÌÍæ E
ãUæðÐ

How many words can be formed by the
letters of the word ‘LAHORE’ so that (i)
they begin with L and end with E, and  (ii)
L and E occupy head place ?

———
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